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Choose the
Point

A) motion
B) lip

C) berry
D) phanton
ANSWER: B
Choose the
Keep

A) Phone
B) Charity
C) Core

D) Know
ANSWER: C
Choose the
Vigour

A) knight
B) stephen
C) wire

D) breeze
ANSWER: B
Choose the
SooTHe

A) fire

B) soot

C) cute

D) smooth
ANSWER: D
Choose the
Gaol

A) loot

B) Jjump

C) foal

D) gun
ANSWER: D
Choose the
Cat

A) goal

B) facet
C) cheque
D) scent
ANSWER: C
PiN

A) cell

B) bank

C) sing

D) snow

ANSWER: D
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Choose the word that has the same sound as the highlighted
Year

A) berry
B) calculator
C) burst
D) arson
ANSWER: B

Choose the word that has the same sound as the highlighted
Van

A) fan

B) of

C) off

D) phone
ANSWER: B

Choose the word that has the same sound as the highlighted
HuSband

A) laugh
B) bus

C) pace
D) dogs
ANSWER: D

Choose the word that has the same sound as the highlighted
BEar

A) here

B) area

C) beard

D) tear

ANSWER: D

Choose the most suitable option in the following
The came here last week

A) young tall handsome man

B) handsome tall young man

C) young handsome tall man

D) tall handsome young man

ANSWER: B

Choose the most suitable option in the following
Please look the answers for me

A) over

B) across

C) after

D) on

ANSWER: A

Select the word or phrase opposite in meaning to the highlighted word
The man hold PAROCHIAL views on almost every issue
A) rational

B) realistic

C) popular

D) sensible

E) broadminded

ANSWER: E



Select the word or phrase opposite in meaning to the highlighted word
Wow! this unprofessional doctor just ABSQUATULATED

A) died

B) left abruptly

C) interrupted

D) poke nosed

ANSWER: B

The 2020 gubernatorial election of Edo state held
A) Sept 20

B) Sept 21

C) Sept 19

D) Sept 18

ANSWER: C

The country to host the (2022) FIFA world cup is
A) Canada

B) USA

C) OQATAR

D) Mexico

ANSWER: C

The Organisation that preceeded United Nations was _
A) OAU

B) League of Nations

C) UNO

D) ECOWAS

ANSWER: B

The civil war crisis was renounced in what year _
A) 1980

B) 1967

C) 1968

D) 1970

ANSWER: D

The agreement to prevent the secession of Eastern Nigeria was known as-
A) Aburi Accord

B) Addis Ababa Accord

C) Kano Accord

D) Cairo Accord

ANSWER: A

The longest bone in human body is
A) femor

B) femur

C) phemore

D) fumer

ANSWER: B

Which of the following radiations have the longest wave length
A) Gamma rays

B) Infra-red

C) Light waves

D) Radio waves

ANSWER: D



is another form of polygamy in which women practice having
two or more husbands.
A) Polygny
B) Polyandry
C) Polygamous
D) Polygamy
ANSWER: B
The full meaning of "A.M" is -
A) ante meridiem
B) anti median
C) anti middle
D) anti minutes
ANSWER: A
The is the outermost of the three layers that make up the skin
A) Dermis
B) Epidermis

C) Skin
D) Flesh
ANSWER: B

When 4x3 + 6x2 - 2x + 7 is divided by 2x -3, the remainder is
A) 62

B) 22

C) 31

D) 21

ANSWER: C

Evaluate log2 (x2 - 2x + 5) = 2
A) -2

B) 1

C) 2

D) -1

ANSWER: B

Evaluate the value for x is in the equation Vx+8 + Vx+1 = 7
A) 2

B) 5

C) 6

D) 8

ANSWER: D

If 8, x, y, z and 20 are in arithmetical progression, find x, y, and z
A) 11, 14, 17

B) 13, 17, 19

c) 12, 13, 18

D) 14, 18, 22

ANSWER: A

Find dy/dx of y = 5/(6-x2)3
A) 30/V(6-x2)4

B) 30x2/(6-x2)

C) 30x/V(6x-x)4

D) 30x/V(6-x2)4

ANSWER: D



The following are true about mode except?
A) mode may not be unique

B) mode is the number that occur most

C) the mode is always the median

D) mode is mostly used by industrialist

ANSWER: C

The mean deviation of 3,3,8,11,12 and 21
A) 5.0

B) 5.25

C) 4.0

D) 4.67

ANSWER: D

Two men and six boys can cut a field in 3hours. If the men work at 3/2
imes that of the boys, how many men are required to cut the field in
2hours?

A) 4
B) 6
C) 8
D) 9
ANSWER: D

A businessman invested a total of #200,000 in two companies which he paid
dividends of 5% and 7% respectively. If he recieved a total of #11,600,
how much did he invest at 7%?

A) 160,000
B) 140,000
C) 100,000
D) 80,000
ANSWER: D

Two dice are thrown together. The probability that the sum of the
outcomes 1is at least 10 is

A) 5/36
B) 1/4

C) 1/6

D) 1/12
ANSWER: D

A mother is now twice as old as her daughter. Ten years ago the mother
was four times as old as her daughter. The present ages of the daughter
and the mother are, respectively

A) 15,30
B) 20,40
C) 25,50
D) 30,60
ANSWER: A

Two fair coins are tossed. The probability of getting at least one tail
is

A) 3/4
B) 2/3
C) 1/4
D) 1/2

ANSWER: A



In how many ways can we arrange the word FUZZTONE so that all the vowels
come together?

D) 1440
B) 6

C) 2160
D) 4320
ANSWER: C
If logxy = 100 and log3x = 10, then the value of y is
A) 310

B) 3100
C) 31000
D) 310000
ANSWER: C

The price of cooking o0il has increased by 25%. By what percent should a
family reduce the consumption of cooking o0il so as not to increase the
expenditure in this account?

A) 20%
B) 25%
C) 18%
D) 16%

ANSWER: A



